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Ox=0E9X =4 200,000& » 183l 3,600
O¢l==2A MA(OMU2MH =¢)
200,000& x703| 14,000
405 RHoHE S HI 4,400 8,250 A 3,850
01 AL EFFHSHI 4,400 8,250 A 3,850
O EsS= IPTV A A 880,000 504 4,400
23 JIgMA 2= 1,336,531 1,902,708 A566,177
Al 17,108
T 1,319,423
SHEE 2tel 59,175 161,705 A 102,530
Al 17,108
- 42,067
SHESE g2 29 12,620 10,550 2,070
201 Let2d] 12,620 10,550 2,070
01 At 22l 12,270 10,200 2,070
Oget=&H| 9,750
o A==RI|ISSH &28  42,000& *1005+0.9 3,780
o MBHMIIZESHEIAMEDN 2t
33,000& x1005+0.9 2,970
o AtR NI EEALE DA 220 30,0003 1005 3,000
O"=)| I (SHELYH S)
1,300,000& *0.9 1,170
OSAHEHA 29I 1,500,000& *0.9 1,350
02 =224l 350 350 0
OAMSHEAEDAN & SHAHX SELS
3,500& 1002 350
SHEM 28 (IHEEA) 46,555 97,767 A51,212
Al 17,108
T 29,447
101 @124 dl 23,883 26,226 N2,343
Al 5,772
T 18,111
04 DIt 22 XREES 23,883 26,226 N2,343
OZHEXZA 2223 el 11,544,000& 11,544
Al 5,772
- 5,772
OZMEBE=A SREXF o114l 12,339,000 12,339
201 LBH2E| 22,672 71,541 A 48,869
Al 11,336
- 11,336
01 At 2t 2l 22,672 71,541 A 48,869




2AX: EB0ICIHA
M HEB3 J|BHA 2=
ool SHIE 2l (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OdMEEZA ZAE = 22,672,000& 22,672
Al 11,336
- 11,336
NEERSDNRS | 1,277,356 1,627,176 N 349,820
yEoTe &= 529,331 932,676 N403,345
201 et A | 191,640 293,762 N 102,122
01 AFR2t2l Yl 191,640 293,762 N 102,122
OgEE S/W 2 113,401,000 113,401
OMeIdE 253 S/W ¥ 0ls
66,330,000& 66,330
O M2NHE 2 450,000&*0.9 405
O&EAA AR EH| 9,493,000& %0.9 8,544
OXE HESnNE ZAE 960,000& 960
O&ANEH 29| 2,000,000& 2,000
405 XtabF SHI 337,691 638,914 N 301,223
01 AL 2B F SHI 337,691 638,914 N 301,223
OFAEH RU(RER) 1,408,000& x15CH 21,120
OUESRZ E2HMH AMAE =g
132,344,000 132,344
OUE<3a &4l LA 73,150,000 73,150
OYs3 ZdI(VPN) X 77,000,000& 77,000
ogaesl 34,077,000& 34,077
UHFBAAY 29 584,850 575,597 9,253
201 Bt A H| 547,499 536,006 11,493
02 3524l 547,499 536,006 11,493
Osld ANE2 (28, HE=SXHH, AAEL)
18,300,000& x12& 219,600
SUE 22020 ZE MHIA 082 660,000 660
OUE<RIAa KBB4 118,470,000 118,470
O™ M AZEH KA ESH| 103,180, 000& 103, 180
OFXNZMAIAE S X224 6,949,000 6,949
O2Liet MALEH | X244l 16,883,000& 16,883
OMH ¥ HEEX |RAE=H 67,183,000& 67,183
OMS#EZE S/W X244 5,893,000 5,893
Og2&&I| AL 2,908,000 2,908
ORINMMIAEX R E=Hl 5,773,000& 5,773
202 (4] 1,440 2,400 A 960
01 2L Y| 1,440 2,400 A 960
OFAZEH L HHLEE S/W EHHO Y
10,000 *2H 6 x12& 1,440
203 &P EF | 1,800 2,000 A 200




2A: EZ0/1C0A
M HEB3 J|BHA 2=
ool NP 7 (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
03 A HF=XHR=XH| 1,800 2,000 A 200
OB RFAYI 2,000,000&*0.9 1,800
308 AKX SHHSOIA 34,111 35, 191 A 1,080
N 3IN2SHUSEAHAE ALY 34,111 35, 191 A 1,080
O2Ltet S/W 2E X A= AZH
34,111,000& 34,111
ZEINWALAY 2 163,175 118,903 44,272
308 XX SHAMSO0IA 128,140 118,903 9,237
N 3IN2SHUHSZEAEAE ALY 128,140 118,903 9,237
OZ3SJ|8t MALEH S A2 106,422,000& 106,422
O38J18 MHlSPAIAE X2t
15,258,000& 15,258
OMS8HE MUlA A3 &94Hl 6,460,000 6,460
405 Ko SHI 35,035 0 35,035
01 JtatY = S F SHI 35,035 0 35,035
O3SJ|8t Mall=7 AECX 4
35,035,000& 35,035
HHSAALH(E20IC0HA) 241,272 284,838 N 43,566
OlES2HHI(EL0ICINA) 215,631 253,442 N37,811
Ol 2| NEAZ(EEZ0ICIHA) 215,631 253,442 N37,811
101 @121 | 210,546 248,357 N37,811
02 JIEtA 2 =% 128,795 118,531 10,264
OAZFEEH DM "LH's 72,637
oJleEa 4,693, 7502 x1H 128 56,325
o dHZAHI 140,000& x1H x12& 1,680
o Z2REE 12,0023 »1H x12& #25A| 2t 3,601
o JIELYE 100,000& x1H ~12& 1,200
o0 HIE AH| 16, 147& x1H *105Al 2+ 1,696
o SR Y 225,300& x1H x12& 2,704
o 4t E 5,431,000 5,431
OLBIAIIM "2t"'S 56,158
o Jdle2 3,627,330& x 1 x12& 43,528
o dHZAH| 140,000& x 19 = 12& 1,680
o XZUIRY 9,733 x45A| 2tx12& 5,256
o0 HIE AH| 87,346& x15L 1,311
o 4t E 4,383,000& 4,383
03 2IAHAZZ2XHE %= 81,751 129,826 N48,075
OZBRAZZTHEEIGHEHI|A, 158E2) 45,614
o JIE=2 2,317,860& 128 27,815
o IIEx¢ 20,000& 12 x12& 240




2N
X ZH -
L= B

el

20100 a
HY2IZH(EL20ICIAHA)
H2YH(S20I1CI014)

SN HH-S(BN) - MBAY - B il HlnE2
o Al2+el==¢& 11,7128 x1.5+30A1 2+ 12& 6,325
o =24l 130,000& =128 1,560
o BEFOtHI 2,781,430& 2,782
R =] 11,7123 x8A| 2t+1.5%243] 3,374
o 24 2,317,860& 2,318
o 0dH| 10,000& =10 122 1,200
OSRAZZXN EX(EEIN=R28, 758) 36,137
oJlzg 1,993,890& »12& 23,927
o IIExE 20,0003 x2F x 123 480
o Alztel==¢ 10, 162& x1.5+30A 2+ 12& 5,488
o =2l 130,000& =128 1,560
o BEFOtHI 2,392,660 2,393
o 5€22H 10,1622 1 .5x8 Al 2+ *63] 732
o B3z2s¢ 1,196,330& 1,197
o 04d| 10,000& »3L 123 360
204 MR F | 5,085 5,085 0
02 252 Xl 4,485 4,485 0
OAIZFEEH ADIH "LH'e As2Xl
218, 7503 18 128 2,625
OgBrAIIH "et"as =Xl
155,000& 1H 128 1,860
03 EZ YA 600 600 0
OLBUIM "et's Y&
50,0003 x 18 «128 600
[2ZH(E20ICIH4) 25,641 31,396 Ab5,755
Jl2Ztl M2AY(E20ICIoA) 25,641 31,396 A5,755
201 Let2d] 15,513 17,236 AN1,723
01 At 221l 15,513 17,236 AN1,723
Ogt=&H| 54,5003 «14H«12&+0.9 8,255
O= &l 8,000 & x14H x6A x 123 0.9 7,258
202 oddl 7,128 10,560 N 3,432
01 = LH &4 1l 7,128 10,560 AN 3,432
OZUHEZ0HI 10,000& x11H 62 +12& 0.9 7,128
203 YR =&t 3,000 3,600 A 600
04 RN RETY 3,000 3,600 £600
ORA2EIRFaHI 250,000& 128 3,000




